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Bending the sensor increases the distance
between the conductive particles
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$define red 2

. gdefine yellow 4
Arduino EE
. OI'—T—OI_I': I]'“?_IEE int flexpin 4 = Al;
int flexpin 5 = AO;
EE‘IIE EE vold setup() |

Serial.begin{9600); // ACIE BN £EE seooz 8.
pinMods (ped, CUTEUT) ;
pinMode {(yellow, CUTFUT) ;

. O} 0| 3|2 7|2

vold loop() |

int flexVal 4;

%E_‘llﬁ ¢1|A-| int flexVal 5;
. '°E| ﬁcg %I-xl ﬂ*1 flexVal 4 = analogRead(flexpin 4);

Serial.print("sensor_4: ");
Serial.println(flexVal 4});
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fdefine red 2

fd=fine yellow 4 if (flexval 5 = 460 || flexVal 4> 4€0){
ine £lexpin 4 — A1; digitalWrite (yellow, HIGH);

int flexpin 5 = AQ; }’515'.':{

int buzzer = 32;

digitalwWrite (yellow, LOW);

tone (3,370,1000);

digitalWrite (red,HIGH);

wvolid loop () {

int flexvVal 4; }ElSE{
int flexvVal 5;

digitalWrite (buzzer, LOW) ;
flexval 4 = analogRead {flexpin_4} H :iigi:al??ri:e {].'Ed,- IC?\‘} ;
Serial .print ( "sensor_4: ");

Serial .println(flexVal_4); }
flexvVal 5 = analogBRead(flexpin_ 5);

Serial ..print("sensor_5: "); :ielaj; [1000} H
Serial .println{flexWVal_ 5); }
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void setup() { }
Serial .begin (9600) ;
pinMode (red, OUTPUT) ;
pinMode (yellow, OUTEUT) ; if (Flexval 5 > 461 || flexval & > 461)
pinMode (buzzer, OUTPUT) ; o - o -
} digitalWrite (buzzer, HIGH);
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